
Restar de Ceros (G)Halle cada diferencia.
6000 1000 8000 5000- 1109 - 483 - 6813 - 637
1000 9000 8000 1000- 716 - 8491 - 2888 - 763
5000 2000 4000 3000- 1627 - 1133 - 1376 - 1893
1000 6000 4000 4000- 156 - 3066 - 282 - 698
9000 4000 4000 8000- 8880 - 729 - 2333 - 7948
9000 2000 8000 3000- 1097 - 1917 - 3097 - 455
7000 8000 8000 8000- 1945 - 7120 - 1825 - 1746
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Restar de Ceros (G) RespuestasHalle cada diferencia.
6000 1000 8000 5000- 1109 - 483 - 6813 - 6374891 517 1187 43631000 9000 8000 1000- 716 - 8491 - 2888 - 763284 509 5112 2375000 2000 4000 3000- 1627 - 1133 - 1376 - 18933373 867 2624 11071000 6000 4000 4000- 156 - 3066 - 282 - 698844 2934 3718 33029000 4000 4000 8000- 8880 - 729 - 2333 - 7948120 3271 1667 529000 2000 8000 3000- 1097 - 1917 - 3097 - 4557903 83 4903 25457000 8000 8000 8000- 1945 - 7120 - 1825 - 17465055 880 6175 6254
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